=
&~ SESAME

“ www.sesamemotor.com




134



PEE Single Stage Dimensions PEEERSNIR~TE

@ DA4ss

Specifications #R1& Unitmm
L A PEES50 PEE70 PEE90 PEE120 PEE142 PEE180
D1 50 70 100 130 165 215
D2 34 6 6.5 8.5 105 13
D3 he 13 16 22 32 40 55
D4 g6 35 50 80 110 130 160
D5 15 25 35 45 50 70
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P
D7 64 90 120 152 186 239
L1 50 70 94 120 142 182
L2 245 37 43 60 93 104.5
L3 4 7 5 20
L4 15 15 15 3 6 2.5
L5 15 25 32 40 60 70
L6 2 2 3 5 5 6
L7 5 10 12 18 16
L8 30 36 51 61 79 87.5
L9 4 4 45 6 6 8
L10 14 165 205 30 38 48
111 244 315 36.5 42 63 69.5
C1? 46 70 90 115 145 200
2?2 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P
c3? <8 <14 <19/<24 <24/<28 <35 <50
C4? 27 35 43 58 66 82
C52¢6 30 50 70 95 110 1143
C6°? 4 5 5 8 6 13
C7? 50 70 94 120 140 182
C8?2 34 44 50 63 80 95
9? 88.5 117 144 184 252 287
B 5 5 6 10 12 16
H 15 18 245 35 43 59

* C1~CORNHIREFEERRR T BMFMERANTERE. * C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to the motor flange chosen.

* ARSI B U EHBREETRIABERLTEH * Specification subject to change without notice.

135 | & sesame
www.sesamemotor.com



PLANETARY GEARHEADS

PEE Double Stage Dimensions-1 PEEZEZSNEIR~TE-1

C9 | C6 oC7
j L1t
N I
] H i}
1|,
! (O]
$| ol ,____S 1
alala | . 3]
38 — 18
I
I
Lafl | U1
| L] I
L3 L7 C4
L2 L8 C8

L6, L5
@ _T"_'| 5
Q| e o o3 -
i 5
L9 La
L10 RN
L
Specifications #R1§ Unit:mm
I - PEES0 PEE70 PEE90 PEE120 PEE142 PEE180

D1 50 70 100 130 165 215
D2 34 6 6.5 85 10,5 13
D3 he 13 16 22 32 40 55
D4 g6 35 50 80 110 130 160
D5 15 25 35 45 50 70
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P
D7 64 90 120 152 186 239
L1 50 70 9 120 142 182
L2 245 37 43 60 93 104.5
L3 4 7 5 6 8 20
L4 15 15 15 3 6 2.5
L5 15 25 32 40 60 70
L6 2 2 3 5 5 6
L7 5 6 10 12 18 16
L8 56 64 91 109 140 177.5
L9 4 4 45 6 6 8
L10 14 16.5 205 30 38 48
L11 244 315 36.5 42 63 69.5
c1? 46 70 90 115 145 200
2?2 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P
c3? <8 <14 <19/<24 <24/<28 <35 <50
c4? 27 35 43 58 66 82
C52 6 30 50 70 95 110 1143
C6°? 4 5 5 8 6 13
c7°? 50 70 94 120 140 182
c8? 34 44 50 63 80 95
C92 114.5 145 184 232 313 377

B 5 5 6 10 12 16
H 15 18 245 35 43 59

* C1~CORAHITEFEERRR T BMMEANTERE. * C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to the motor flange chosen.
* RPE AR E U EHBREETRAEEAKTEAN. * Specification subject to change without notice.

2 SESAME
= 136
www.sesamemotor.com



PEE Double Stage Dimensions-2 PEEZESNEIR~T[E-2

137

C9 oc7
C6
— _L11;
M — AN
I r o ‘&@i %\
g 8 é]:lf—\ H4P '_" g ©j
R fed [ E— S
L4 e =4 e
'-43[: L7 ca 8 PeReG
L2 "I—Le c8 \9
[PEE142T/PEE180T
I_B_| 6L6 L5 - €2 e | cs
Q= | =" -
T {@) T3 = HnEs
L9 — t: :_ %8
L10 :—b:];iLB JF c8 |
Specifications #R1& Unit:mm
Rt Dimensions PEE70T PEE9OT PEE120T PEE142T PEE180T
D1 70 100 130 165 215
D2 6 6.5 8.5 10.5 13
D3 he 16 22 32 40 55
D4 g6 50 80 110 130 160
D5 25 35 45 50 70
D6 M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P
D7 90 120 152 186 239
L1 70 94 120 142 182
L2 37 43 60 93 104.5
L3 7 5 20
L4 15 15 25
L5 25 32 40 60 70
L6 2 3 5 5 6
L7 6 10 12 18 16
L8 58.8 77.5 99.4 127 157
L9 4 45 6 6 8
L10 16.5 205 30 38 48
L11 29 355 405 42 63
c1? 46 70 90 115 145
2® M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P
c3? <8 <14 <19/<24 <24/<28 <35
c4’ 285 41 4775 58 66
C52%%6 30 50 70 95 110
c6° 55 8 6 8 6
c7? 50 70 94 120 140
c8? 40 50 55 63 80
c9? 135.8 170.5 2144 283 3415
B 5 6 10 12 16
H 18 245 35 43 59

* Cl~CIRARREREBRRR S BRAMERNFERE.

* AREAETH L ERBRBETRAEEALRTEA.

=
& SESAME
www.sesamemotor.com

* C1~C9 are motor specific dimensions(metric std shown ),
Size may vary according to the motor flange chosen.

* Specification subject to change without notice.




PLANETARY GEARHEADS

PEE Specifications Table PEEMAER1EHR

##& Specifications sﬁg%ﬁze AR | pEE-s0 PEE-70 PEE-90 PEE-120  PEE-142  PEE-180
3 138 44.2 95.2 283 482 1151
4 119 359 746 249 490 1055
1 5 138 430 95.2 283 473 1151
7 119 36.0 85.6 219 400 1055
10 10.1 250 75.0 210 320 763
Sﬁg%ﬂe ARG | PEE-SO PEE-70(T)  PEE-Q0(T)  PEE-120(T)  PEE-142(T)  PEE-180(T)
REEE 4B Ton 15 138 442 95.2 283 482 1151
Nominal Output Torque Nem 20 119 359 746 249 490 1055
25 138 430 95.2 283 473 1151
30 138 430 95.2 283 473 1151
5 35 138 430 95.2 283 473 1151
40 138 430 95.2 283 473 1151
50 138 430 95.2 283 473 1151
70 119 36.0 85.6 219 400 1055
100 10.1 250 75.0 210 320 763
=fF%E Tanot Nem ~ 3.0 EEEEH H 1%E (3.0 times of Nominal Output Torque)
Emergency Stop Torque (* S AHILH 15 Max. Output Torque T2B =60% of Emergency Stop Torque)
fonﬁinf“lﬁfﬁ _%;“e g rpm 12 | 3-100 3000 3000 3000 2500 2000 2000
%f?lﬁﬁﬁpgg‘g* rpm 12 | 3-100 | 6000 6000 6000 5000 4000 4000
=10 . 1 3-10 =12 £9 £9 £7 £7 <7
Backlash aremin 2 12-100 <15 <12 <12 <9 <9 <9
R4 Torsional Rigidity /z’a\:'c.n:?n 12 3-100 1.0 2.8 7.5 15.5 30 57
ﬁ:ﬁ%ﬂgl II:_ZC;Z; N 12 3-100 350 960 1630 3380 6150 7260
ﬁﬁmﬁ Faap ! N 12 | 3-100 320 900 1420 2930 5510 5550
ax. Axial Load
fEFRE Operating Temp. °C 3-100 -10°C ~+90°C
fEE A= anService Life hr 3-100 20,000 (10,000/ %53 #% Continuous operation)
Hx % 1 3-10 >95%
Efficiency 2 12-100 290%
- K 1 3-10 0.7 14 3.0 73 156 26
Weight g 2 12-100 09 22/17 5.0/34 11.5/8.5 20.7/17.2 36/31
Z #7318 Mounting Position - 12 3-100 EE75EAny direction
%% & Noise Level ? dBA/1m 1,2 3-100 <65 <67 <70 <70 <75 <75
BREES 4R Protection Class - 1,2 3-100 IP65
JEE Lubrication - 12 3-100 REEERE Urea derivatives
IR E SIS S Inertia(J1)
gi#iStage BiREERatio B fizunit PEE-50 PEE-70 PEE-90 PEE-120 PEE-142 PEE-180
3 003 020 081 220 7.89 25.2
4 003 016 0.65 1.80 5.83 19.8
1 5 003 015 062 161 538 183
7 003 014 0.60 155 522 17.8
10 Kg » cm? 003 014 0.60 153 5.20 176
#i%Stage BIREERatio PEE-50 PEE-70(T) PEE-90(T) PEE-120(T) PEE-142(T) PEE-180(T)
15/20/25 0.02 015(0.02) 0.62(0.15) 1.61(0.62) 5.38(1.61) 18.3(5.38)
2 30/35/40 0.02 0.14(0.02) 0.60(0.14) 1.55(0.60) 5.22(1.55) 17.8(5.22)
50/70/100 0.02 0.14(0.02) 0.60(0.14) 1.53(0.60) 5.20(1.53) 17.6(5.20)
* 1. B8R 100rpm B, fEFR & @l ch /OiIE Applied to the output shaft center @100rpm.
*2.3000rpm Z=# E Measured at 3000rpm with no load
XA QB BRE D FBIRRSIETREEEALITEH - The above figures/specifications are subject to change without prior notice.

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
ERPEARSRESAKSERREYRARNIEE  FERESBER -

7= SESAME | 138

www.sesamemotor.com



=
&~ SESAME

“ www.sesamemotor.com

PBL series

=

‘a

L4 |
L3 | B

L2

I—




oCT7

C9

L8

L2

| PBC60T/PBCO0T

C9

e[

140



